Calculations with Recurring Decimals a2
@Noe0 2 Ty

(a) Using algebra, show that a[c\\\j = 2.5 t\ % ;‘—‘3
. AT S s - S
0.2+0.23 = ,2-_,\_%%‘—= l}é‘r’%ézqq T
ﬂ
(b) Using algebra, show that31 ( \O> A900C = \362 :ﬁ.:jé_%
1381 - 0.81 = = RSS! T
M s Sl
763 - 72925
(a) Using algebra, show that - S uy==-
| - . = SRS QA
| 35 b (a)‘DC-E') o2 ¥ &)
| 0.5X0.54=§ i b mlo) | 10
| - 2% A TS
| (b) Using algebra, show that A 17
| SRR AOoc.= 11 = (
4% 0.85 x0.15 = E“ (b> =) S OlO_I_I 15 4620
=\ s AILUENC = —— — |
Ty Jam Mg m |
(a) Using algebra, show that (o\)qDC:_’ oC q 277
j CR o L Gou=lA uy=11
0.7 +02i =3 | e s
ol g & T aieie Gocls TG,
(b) Using algebra, show that =S Treye) T T T |

! LR 32
W358 =1L = e

115
=119 =115
BUEHRLIN oty UL il s i QOB 3 J—;‘D
(a) Show that the mean of the three 5’2_- = s — T\%
numbers o0 -~ 90O
. . . . ] 8 = lé VA §L
0.8,0.81 and 0.81 (&) g v
can be written in its simplest form as a & .3 fhihzdl &R0+ B0 +BIO =;'.‘B_32
B 1r.G - =leclise O A0
fraction b where a and b are integers to = &0 -
be found. 2__:\.5\_@__5 =2._LL-_‘12>__._._2.____
g 2SS
' A0
(b) Using algebra, prove that the area of =
the trapezium shown is A= DEN =330
0.2cm :
2 3 Cily]
a4 2 = ) =+11L =
B30 e ( ) Akl oM NO f
ey -
i Zob T R \%Q~ A9
0.85cm A 5136 ! o] !

/15208830




